‘ CELETTE" AUDI 100/200  mod. o1

O Avec ou sans mécanique
With or without mechanical elements
Con o senza parti meccaniche
Mit oder ohne Aggregate
Con 0 sin mecanica desmontada

V.A.G 1707 2z 406309 WE AUDI 602_300

| 101 Kg | 14.01.91 | 403-D-7A
o did 080 T 090 pq_oso o ] 28 T o o —i_o I o . 141
— 602
o do ©} o Io u: In o{ 140_@: 080_0 ° -'-H_h 6000 0 o 0®—1-
o 10 of [ 1o [+] o o [+ o o o -3 =] < o Q (-] o o
000000000 ° o ol oo 000 |o 1 o o o o ID °| ID DI OAO ?Q ° 9 OQOOOOGQO
OAO 9 © 0 0 © ¢ -] @ o0 © o pq L] o. o L] lo 0! :0 0} o ° o - o o |
I | | | | Io B: I° Dl ° o o o ° TV400 080
080 TV400 140 080 18 L {
I° °| IO o o o o o o o
}0 i fo s MUFE 7 o o o o o o
o L] ID o o o L] o ° o
080 TVv400 140 080 19 ! | | }
| | | | A " N TV400 080
evﬂeﬂooco o o d co © 00 o o o o o o IO o !D D! o o - o ° ° | |
3 e od| |- Co
o ole © 0 ¢ 0 © o o o] oo © 0g toO o ° o ] L] O:g g!o:g 8i° ° o o ° ° ° 0@0 o o o o 8 s 03 g 00000008‘1
o dao o] o o ol o ° 140—o ° o o o o 0 0 0o 0o olo 0
5O+ 01 ol S HH+
o d ol o o o o ° ° ° ° 3 ° o
080 —| 8 OJ—080 29 — 4 14— 142
12 3 45 6 7 8 9 101112 1314 151617 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36
V.69
212 Réparation
34 -35 :;::::zlr:gzlone
Instandsetzung
11-12  Reparacion
MUF 7 13
MZ 080 15 B Gheckng
+ TV400 Controllo
Fic. 1 1-12 gmﬁ;u"g""’
13 FIG.2
GELE TTE ® © Copyright 1991 CELETTE S.A. - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any

other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.
VIENNE-FRANCE




AUDI

100/200  Mod. 91
REP.| REFERENCE| PDS | NB Mz
1 602.701 3,6 1 080
2 602.702 3,6 1 080
3 602.703 3,0 1 140
4 602.704 2,5 1 140
5 602.705 2,8 1 140
6 602.706 3,2 1 140
7 602.707 1,7 1 080
8 602.708 1,7 1 080
9 602.709 1,9 1 140
10 602.710 1,9 1 140
11 602.711 2,7 1 601
12 602.712 2,7 1 602
13 602.713 1,7 2
14 602.714 1,6 1 080
15 602.715 1,6 1 080
16 602.716 2,4 1 080
17 602.717 2,4 1 080
18 602.718 4,3 1
19 602.719 4,3 1
20 602.720 0,5 2
21 602.721 2,1 1 080
22 602.722 2,1 1 080
23 602.723 15 1 080
24 602.724 1,5 1 080
25 602.725 1,6 1 140
26 602.726 1,6 1 140
27 602.727 4,0 1 080
28 602.728 5,5 1
29 602.729 5,5 1
30 602.730 3,7 1 260
31 602.731 3,7 1 260
32 602.732 2,4 1 141
33 602.733 2,4 1 142
34 602.734 3,6 1 080
35 602.735 3,6 1 080
B70 0,2 4
BO5 0,05 2
V.68 0,1 2
V.69 0,1 2
V.70 0,3 2
E37 0,2 2
M8x16 6
M8x30 10
M10x20 4
M10x30 ;
X
B= M10x35 2
i |8
Avec ou sans mécanique X
With or without mechanical elements M%g:%ggﬁ% %
Con o senza parti meccaniche
Mit oder ohne Aggregate M10 8
Con 6 sin mecanica desmontada M12 6
V.A.G 1707 z 406309 WE AUDI 60 2 30
| |
| 101 Kg I 14.01.91 I 403-D-7B
° o o 3 [] O . ° r: Y
10 - 28 — |
e ¢ e| o ()53() o Fay 3 §:>‘<2 080 L] ° » [ —r; I'f; :o ol
— 602
e de ol e ch ol lo ol 140_@' ° ° 080 —¢* ) "-H-l—. 141 oOo
- ooololooLoo ° ooaooooDOooooooa_08o
° olo 6 o o o ° . o eo 000 Jo o - ° lo DI I- cl ° ° o ° [ [J ° . ° o
Q 50 7 Jod A 2]
oé>oo © 0 0 0 ° o o] oo 0ceo e . o ° ]o o[ fe oi ©° o ° ° ° ° ;t *
| | | | Io .[ :o -| e o ° L3 o o |o o:
080 TVv400 140 080 18 | | I
I. .I |° .I * o 1 ] * * L |. o
I
Io nl :Q o{ pvqigfss _ pvq'r']_() . ° ° ° ° ° le (]
|o 0: l. .I ° ° - - L] L] :o o:
080 TV400 140 080 19 l |
Io ol le . ° ° . . . ° le ol
| l | | | | ! : t !
° ojlo o o ® o . [] ¢ oo 000 je ° ° ° o e| Jeo . ° °o . o o o le °
< ! o e
OO. e 0 0 ¢ o L P@I 90 © 80 .Oq. a« L] IIO .I l' .I .OO o 8.4 [ 3 [ ) o 3 Ovc
- e [0 of ¢ Io oo . 9o o ol o U o o o o lo ol ¢ lo o_o ¢ o O 080
o do___@le le ol fo °| 140—1&Fe] - o . Itl . 142 AL
J — 601 — T I. R
o AR} o [ ] L] L ] e o * L
080—'8 od}—o0s0 29 — i o
L] [ U [ ] [] ° ° [: - :J

1 2 3 45 6 7 8 9101112 1314 151617 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41

M8S - MT10

MZ 080

FIG.3

212

13

13

V.69

11-12

11-12

Réparation
Rebuiiding
Riconstruzione
Instandsetzung
Reparacion

Contréle
Checking
Controllo
Uberprugung
Control

FIG .2

GELETTE ®

VIENNE-FRANCE

© Copyright 1991 CELETTE S.A. - Allrights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any

other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.




AUDI 100/200  Mod. 91

L=

M8S - MT10

Avec ou sans mécanique

With or without mechanical elements
Con o senza parti meccaniche

Mit oder ohne Aggregate

Con 6 sin mecanica desmontada

V.A.G 1707 2z 406 309 WE AUDI

602.300

I 101 Kg I 14.01.91 I 403-D-7C
o cojoo e 080—090 :Oq_ogo ° ° _ol-h_l41
o +
¢ o00|/ooc o Jln o! 140_.@0 _‘-H
° ° ° OOO @0 0 eO : ° ° ° ° ° ° i? 2; ° S 8 ° ° °© © o 9o 9 oao 9 sl ° ° o ¢ <o 12 3
° ° ° o&o %o o eo :OQ. . 0. ° . i. o| o ° ° o ° °
I
| | | |® ol ° (] ° ° ° °
080 080 18 T . ..
I
|o ol ° ° . ° ° .
080 080 19 :o o: ° . ° e e .
- ° . o|v,o se o900 |0 |. ° . | ° ° Io ol ° O ° ° ° .
O OG i I |r ° ° o ° [ .
LI L__Z_“ 20 °%0 P2 °_l1e 2 2l o 13 3]_9___3 ol o o o o o ol o @ o ol _o o o o ¢ lo o
e ooloe e lo ° ° ° 140 —} o o . _F
odf— oso s B

-20

123

™ Mz 601 \Oo

b,
p MZ 2451/2452

GELETTE ®

VIENNE-FRANCE

© Copyright 1991 CELETTE S.A. - All rights reserved. No part of this document may be reproduced in any form, by photostat, xerography or any
other means, or incorporated into any informational retrieval system, electronic or mechanical, without the permission of the copyright owner.






